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Question 14- Question 2- The ratio between the age of A and B before 10
year was 1:3. The ratio of there age 5 years hence will be 2:3. Find the

present age of B.
TH14- 1098 § I8 A X B 3hl AT o6 Sii< 1 ST 1: 3 A 5 I o6 A1Q

T ST 2: 3 T B hl 9T A T CANSRL

A. 15 years
B. 20 years
235 years
D. 18 years
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Question 1- The average age of 10 person increased by 3 months when a

person of age 335 years is replaced by a new person. Find the age of new

———

person.

T 1- 10 4i<h shi ST 1T H 3 HEH 6l g il & ST 35 T shl 7Y oh e

1 Ueh A Si<h GIRT TICTEATIU foRaT STTT 81 7T ek ohi 371 14 shifsial

3 4
5 l\? ;Ii% A37 years 6 months
i B. 37 years 5 months
C. 36 years
D.40 years
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(D Tkl imouarcd gz = 10X3

= 30 menth.
= QY & mnonth

A of mw povin= 3549, 6 mor
= &t 6 month

———
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Question 2- Find the simple interest on a sum of Rs 12,000 at 20% oer

annum for 2 years and 6 months.

T 2- 12,000 ¥ shT URT I 2 T R 6 TS o 11T 20% AT i T H
HTLTT SATST T ShITSTT)

‘ Sm%w bt~ 507 oo s

:iy )QOOQ MARS%
L B.Rs 3600
= Y 60 C. Rs 4600
i D.Rs 5600
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annum for 1 year when interest compounded half yearly.

/Vb\(\ Question 3- Find the compound interest on a sum of Rs 16,000 at 20% per
£ ga3 16000 HTRIR aﬁf%aﬁaﬁaﬁ SELIERDIS

Q\\ STd oﬁf\ﬁe} ST ST e BT O GG et 2]
R=<o | CT.= lo+lo+loxio
ure (0o
Pe 0 8, 19, A.Rs 3260
. CI-ZQ\‘/,%iIéSobqs B. Rs 4260
\ L Rs 3360
- R6 O D.Rs 4060

[—
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Question 4- The cost price of 6 article 1s same as of selling price of 5
article. Find the profit or loss percentage.
751 4] 6 & 1 3T Hed 5 I o Toshd Hed o HHIE &l A9 AT 8T Jiard Jd

EASRY

Py | xboo
(i Pt G
CP 5 =20 A.10%
S g\\(P* S “B20%
C.25%
D.30%
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Question 5- A person sells an article at 25% profit on cost price. Find his

profit percentage on selling price.
T 5- Ueh SFi<h Ueh A& %l 36T Hed W 25% WATH W sl ol forshal 7o

3T AT ITdeTd J1d i)

D By 1Y po
L “A20%
\C 5
: P = B. 10%
( /cm { P L_X\/OO:QQZ C.25%
R D.40%
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Question 6- If a person travel 4/5 of its usual speed then he delayed by 20

S/ 2 minutes to cover a certain distance. Find the actual time to cover the
istance. i
R P

e SRk AT ATHTT T | 4/5 IATAT shtell € Il a8 Teh (2 gl o it

@‘ <1 LT 21 S 99 hid ohl ATEdfdeh GHT JTd ehiTwiy|

T
@ /&l -' )gg\: S H 7{4 :_L{é@g\m _A80 minutes
A A= 4 . q 2 O______ B. 100 minutes
e C. 120 minutes
| =20 i D.90 minutes
https://t.me/mathbytarunsirmepl
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Question 7- If the perimeter of a rectangle 1s 28 meter and its are 1s 48

meter square then find its diagonal.
T 7- Ife Teh AT ohl IIATT 28 HiCT 8 3 IHhT 3T 48 T 11 @ dl 39|

D | IEEMIGEIIS O )= 8
: @f (I)=29 |- ¢
/( )\&3\ HH- X B.30m
\ — 5 ) = ’6H+3g
D‘W;m < low, figz

—_—
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Question 8- Income of A 1s 20% more than income of B. Then the income

of B is what percent less thm.

T 8- A shl 3T, B shl 3T H 20% 3710k gl dl B shl 3T /A shl 311 U ford

WW%’ SR 02
& 5 .
Qo»l:@ G 5 = 667 A.10%
S o B.25%
s C.12.5%
D-16.67%
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Question 9- A, B and C can do a work 1n 12 days, 15 days and 20 days. If they

start working together then B left 2 days before completion the work. In how many

days total work was completed.

I 9- A, B 3T C Uk i ol 12 Taq, 15 fo 371X 20 o7 & st wora 81 3fe 9 wes &1y
TH AT I L & al B M U 8H H 2 o 98l 1S odT =l Fd i fohe foai 1 g

REL 2
A 4-

3

2

B 1-

3

2
S5

3

D. 62
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pT L W
@ \% L éo Tht(= @1""'{-('3) B < 8 —:le'? i
B j A 2 2 ﬂll =0
3 i o= 60+8
- .
=72
(Broad= G 5 [T~ &8
— 16 [= QHE <§+Lf+3)
@JFB“LQ'WO%@ -6 | =52 = AIE o2
3~ 737
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Question 10- 75 X 75 — 25% + 20% of 300
EE 1}7_5@;5 - 252 +30 1 20%

SR
=56 — a9 — G5+ 60
S
5 s A. 4050
= 304, _B 5060
C. 5600
D. 4600

https://t.me/mathbytarunsirmepl



=) UP QIcT>A DR 20234

https://t.me/mathbytarunsirmepl



*=)UP UfcIA BbIRCdcT 20234

Question 11- A and B have monthly incomes 1n the ratio 6:5 and
their monthly expenditures in the ratio 4:3. If they save Rs. 1600 and Rs.
1800 respectively per month, then the monthly income of B 1is :

T 11- A 3R B T ATIHR 3T 6:5 % ST H & I 3k HIT4h 553
ST 4:3 7 AfE o Tl ATE ST 1600 T X 1800 T 26T &= hLd @, I

BﬁWWW%? A. Rs 7200
B. Rs 5800
Hom work 5
C. Rs 6400
D. Rs 6000
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